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Potential output

At this point output
is below potential
and the price level is
above equilibrium

/ Here output is at
potential and
the price level is
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FIGURE 7.1 The Aggregate Demand (AD) Clll‘ve Copyright © 2005 W. W. Norton & Company



PRICE LEVEL (P)
Potential output

After the AD shift, the
price level is the same
but output is lower

The initial point,

OUTPUT (¥)
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FIGURE 7.2 Olltpl.lt DeC]ineS When AD Shifts lnwal‘d Copyright © 2005 W. W. Norton & Company



PRICE LEVEL (P) Potential output

After the price shock,
output is lower
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FIGURE 7.3 A Pl‘ice ShOCk Copyright © 2005 W. W. Norton & Compary



CONSUMPTION (C) (billions of dollars)

Consumption function
C=a+bY,

2,000

1,000

I | |
0 1,000 2,000 3,000

DISPOSABLE INCOME (Y,,) (billions of dollars)

. . Macroeconomics, 6th Edition
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SPENDING 45—-degree line

The 45-degree line shows
where spending and income

- are equal \

Spending line =
a+b(1-t)Y+I+GCG+X

\ At this level of income,

spending would fall short
of the amount of income

At this level of income,
spending would exceed
the amount of income

INCOME (V) OR GDP
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FIGU RE 7.5 spending Balance Copyright © 2005 W. W. Norton & Company



TABLE 7.1 EXAMPLE OF THE MULTIPLIER PROCESS
(BILLIONS OF DOLLARS)

Round 1

Round 2

Round 3

Round 4

Round 5

Round 6

REDUCTION IN GDP

THIS ROUND

10.000

6.300

3:969

2.500

1.5¢5

0.992

SUM TO DATE

10.000

16.300

20.269

22.769

24.344

25336

CALCULATION

Exogenous drop in investment
b(1 — t)(10) = (0.6300)(10)
[b(1 — t)]%(10) = (0.3969)(10)
[b(1 — t)]3(10) = (0.2500)(10)
[b(1 — t)]4(10) = (0.1575)(10)

( ) =

[b(1 — t)]°(10) = (0.0992)(10)
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SPENDING

45-degree line

Old spending line

New spending line

1
Spending line shifts
down by Al

2
Income is reduced by
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FIGURE 7.6 The MUItiplier Copyright © 2005 W. W. Norton & Company



SPENDING

1
Spending line
shifts up by AG

45-degree line
New spending line

Old spending line

2
Income is increased by

i
1—b(1—f)AG

Old level New level
of income of income

FIGURE 7.7 The Government Spending Multiplier

INCOME (Y) OR GDP
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